
Soil Pipe Cutter 226

Ridge Tool Company/Elyria, Ohio, U.S.A.
5/00

Printed in U.S.A. 999-998-322.10

Ref. Catalog
No. No. Description
— 69982 226 Soil Pipe Cutter Assembly
1 70437 Ratchet
2 71772 Feed Screw w/Knob
3 33605 Hook Assembly
4 33635 Spacer Wheel
5 71797 Left Arm
6 33685 Retaining Ring (4)
7 33675 Chain Ring
8 33650 Pin
9 44312 Hex Head Screw 5/8″ - 18 x 13/4″

10 33670 Chain Assembly
11 33645 Pin
12 33220 Cutter Wheel
13 71807 Pivot Pin

Ref. Catalog
No. No. Description
14 83890 Nut 1/4″ - 20
15 27402 Flat Washer 1/4″ I.D.
16 71812 Center Arm
17 71782 Bronze Thrust Washer
18 71777 Steel Thrust Washer
19 71792 Pivot Nut
20 83120 Hex Screw 3/8″ x 16 x 13/4″ (2)
21 71822 Plug 1.25″ SQ.
22 71817 Handle
23 79985 Stop Nut 3/8″ - 16 (2)
24 71832 Handle Grip
25 72032 Warning Label
26 71827 Nut 5/8″ - 18
27 71787 Right Arm

NOTE: Order parts by Catalog Number only.
DO NOT order by Reference Number.

10

9
8

12

11

1

3

6

5

2

4

7

13

15

14

16

3

6

6
17

18

19

20

21

22

23

24

25

26
276

Официальный дистрибьютор в России с 1996 года (921) 936-02-07, (812) 331-37-51




